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1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name ofithe Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately. '

4. This Question Booklet contains 70 questions carrying equal marks. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected'and shade the corresponding option in the OMR sheet.

5. All the answers sHould be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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1. Fossil fuels largely consist of

a) Oxygen b) Nitrogen c) Argon d) Carbon
BIOI0VE VQOTINYY, B NS @03
a) S|ETT b) mooxss C) SMFS® d) worme

A is concerned with the people displaced by the construction of Sardar
Sarovar Dam.
a) Silent Valley Movement b) Chipko Movement
c) Appiko Movement d) Narmada Bachao Andolan

RTOFO° ACRETT® WEEL, NN 00T AFDOBTIRROT RIOT FOWORT,

a) Forx O BT b) wdpe WSS
C) ©aBRe WBRTY d) TROFTR WRTP SoWROT®

3. IUCN stands for
a) Indian United Congress for Nature
b) Indian Union for Conservation of Nature
c) International United Congress for Nature
d) International Union for the Conservation of Nature
IUCN 20533
a) QORODT” AT TOTT® FTRT” FT°
b) 0ROI1TT CIRACIT® T TSR BT ST Jee3o°
C) QOBT TIS* 030F 3 FoNA* FR0° Sedo’
d) QoUT TIRIT® ORIV T O F5Her T &® 5030

4. An equivalent of Chipko Movement in South India is

a) Vanamahotsava b) Appiko Movement
c) Save Environment Movement d) Janchethana Movement
?sﬁJ%e zS%ﬁm@odJsg{ TR dé\ £9 LTI 20T 23T0DY
a) ﬁd&ﬁ@@@ﬁf b) wadne B30T
C) ®o=T a’od@:bﬁ T d) ®TBeST =P
5. Grass — Deer — Tiger is an example of
a) Food chain b) Food net c) Food pyramid d) None
TOLY,— 0T — T, Y CINYTY, LVTHETES ?
a) @$TOT AT b) 25 wzes C) %0 00 d) CIRDTR 88
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6. Water pollution caused by
a) Reforestation b) Afforestation c¢) Qil spills d) Both a) and b)

mm@q@ DIo}0Tatew
a) SOTWTLeETD b)) ©083e3Tm C) v AReDENY) d) a) Tnnb) 2tzEk

7. Human-wildlife conflict caused by

a) Afforestation b) Reforestation c¢) Deforestation d) Soil erosion
BRTZ-TF22e BoF RFE 08, FTeD
a) ©Ted e ) daob@dsé €309 C) WO d) =03 BT
8. Who started Appiko Movement in Karnataka ?
a) Salumarada Thimmakka b) Poornachandra Tejaswi
c) Panduranga Hegde d) H. S. Doreswamy
FOFEIBRE wdRe zs’#od@?odo:b C3RTO T3, TORRTITO 2
a) ORI udg b) TPEIFUIOT, Sewa,
C) TPOEITON INTE d) 5. OFF. BRTAN0
9. Noise means
a) Normal sound b) Constant sound
¢) Unwanted sound d) None of the above
B 20TBERO ?
a) _Dmﬁ @20 b) @doézﬁaﬁw
C) @=ng, @20 d) 2003 ojjawd 9.
10. Mineral resources are :
a) Non-renewable resources b) Infinite resources
c) Renewable resources d) None of the above
YRNTY | A% FOTIRON
a) SNEBORTINT :ﬁowﬁ%e,ﬁ%fo b) ez02 zica?df%@rf@b
c) ﬁweé@m&md ROTI RN td) 003 cdnYTe we,
11. Which of the foilowmg is not an impact of mining ?
a) Sea level rise , b) Soil erosion
c) Loss of biodiversity / d) Deforestation
FFNERINY_ 0IReY 0 NeSrmOFDd TEPRDY 7
a) R[0T, 083 908 } b) =033 AT
C) BBIDFT IR d) o3
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17.

Biodiversity has
a) Aesthetic value
c) Both a) and b)
BeDFOTE c\u‘aa@dﬁa TRDT 2
a) Nﬂodvi)?d 53%@
C) a) Tnnb) @d&’é@
Heritage animal of India is
a) Tiger b) Elephant
POTIT TITOZOT 309,68 CTRTYTO ?
a) @O b) &3

Paris Agreement focuses on
a) Climate change
c) Wetland management

T, 07" BN Sl
a) TBOWTL WRRTTH
C) 23R ATFDH

QP - 535

b) Ecological value
d) None of the above

b) o33 I o}

d) 0eOT odRFTR ©e)

c) Cow d) Leopard
C) TR d) 808

b) Waste management
d) Biodiversity management

b) =% AsF=
d) 2eSFRG BT

Which one is the oldest National Park in India ?

a) Kanha National Park
c) Gir National Park

b) Kaziranga National Park
d) Corbett National Park

WPTITS) ) ©8,08 TS Togy, 00 YTRTRTeY TR 9

a) 3 ), 004,60 T 55533)
C) NT* G}%@Oi@ ) =3

Food web is

a) A part of a food chain

c) All trophic levels

ESTOT DO L2008

a) ©TT IOILOL) 20T LN
C) QR &R eeE® DI IEY
Wind mills are threat to

a) Birds
c) Both a) and b)

MY NTEINLL 0y dé TOVFTNT ?
a) 575 nso

&) a) B5re b) wd@R

b) s23con Tay,00% YUTRTHS
d) soeiress U\,& e0B YT TS

b) Two food chains
d) Interlocking food chains

b) QTR =x00 ZoTonh

d) %oTBRINRROT ReOT 57T FITENLD

b) Bats
d) None of the above

b) tPEORD

| d) F0edT cSRYTe e
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18. that meets the needs of the present without comprising the ability of
future generations to meet their own needs.
a) Scientific Development b) Sustainable Development
¢) Economic Development d) Social Development
w:r T Qe9nn BTse = eﬂn’%ﬁﬁ;{ . @6 0% —ada’ F ‘j»—,’; BrodTYTe
Q00 @f:%@mf vgp%#ogd

a) BT e:azf::g b) :b%éd @2353@3
) 3 e @%’% d) DoTHE LRI

19. Lion tailed macaque is found in

a) Gir National Park b) Corbett National Park

c) Silent Valley National Park d) Valley of Flowers National Park
2A0TeT B3 REY TS

a) NT° Ty, e0 ST, TR b) SouIFes” TagyeoD SRV

C) o O Ty €0 SpapkOV d) O ST FIR'F Ty, SV apRSENS

20. Air (Prevention and Control of Pollution) Act was enacted in the year

a) 1980 b) 1981 c) 1979 d) 1982

O (RPOF, RS RoF RODCZ0) TCTAR), 85 IRFTL,

DORRYARNT

a) 1980 b) 1981 c) 1979 d) 1982
21. pH of acid rain is

a) >7 b) 14 c) >5.6 d) <5.6

5332 0P & @zs* DR)? |

a) >7 % ) 14 c) >5.6 d) <5.6
22. Unit of noise is :

a) Joule b) Decibel c) Dobson d) Newton

BUT LT CRRTO ? ,

a) ¥oer b) @B C) BUT d) Spux
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23. Temperature is measured in

a) Degree Fahrenheit b) Degree Celsius
c) Both a) and b) d) None of the above
TR i:irr:s‘i; VTOOT EFODSRNOST
) BN T dﬁ*”ﬁ’s b) &n FOcD=
c) a) SN b) 20ER d) F0edT IR @
24. Solid Waste Management Rules came in the year
a) 2016 b) 2017 c) 2006 d) 2007
IR BRFTY PT Ty, ABFREE ODTOND 933, 3 20T ?
a) 2016 b) 2017 C) 2006 d) 2007
25. Methane is released from
a) Paddy cultivation b) Livestock
c) Both a) and b) d) None of the above
QT CTNF)TOOT WRNBEOTRMIZT ? ’
a) PET I b) oo
c) a) =ne b) 2Tz@ER d) F0edT IR @
26. Which of the following is used as a source in nuclear power plants ?
a) Coal b) Wood
¢) Uranium d) None of the above
FPNSRYNTY, 03T TTRo0ea0 AIavicy mﬁdﬁ?@ YOTITZ), LVBHTED
mﬁ’w@afoﬁ?ﬁ ?
a) 5@@@3 | b) =0T .
c) c3wTeRoI0 d) Fo0edT IR @y
27. Fertilizer derived from animal or plant product is called
a) Chemical fertilizer ' b) Organic manure
c) Synthetic manure d) Organic compounds
30,63 a0 ,w \méﬁc‘bocﬁ TR o’-’mwdd& DFOT TEONWRRIZT 2
) TOROOT 7 %azg)d | b) PRCDR rimozﬁ
* c) Aodeas m%d d) mTchT NOmgﬂ%
28. Where is the Ganges River Ddlphin found ?
a) Pakistan b) India ¢) China d) SriLanka
o SO0 AT 9O FoERITIZE 7
a) W ' b) 203 C) 236 d) &ewom
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29. Birth rate of a population is called
a) Mortality
c) Natality
w033 00T B T2 ROTT
a) 0TI TEIED
c) =RR BRND

30. Amazon is an example of
a) Grasslands
c) Deserts
Evernia m@dﬁ SUTRTTE ?
a) BOVYWHLOND
C) WOBIPRONED

31. Purple frog is endemic to
a) Eastern Himalayas
c) Western Ghats

VRN

b) Vital index
d) None of these

b) &8 BowE
d) cRYTR @Y

b) Tropical rainforest
d) Oceans

b) mx;;@om DOFTTEINED
d) mnoned

b) Thar Desert
d) Banni Grassland

=eos %@i(ﬁds'@@ @rf) 3 mr\%ﬁ %@e@mﬁd

a) PR oIV
C) T TN

b) ToT° ROTOERW
d) e, BILOMOTL0

32. Sustainable Development Goals framed in 2015 should be achieved by

a) 2025 b) 2030

c) 2045 d) 2040

ROXT @&p%@gmbﬁ%ﬁo 2015 & IREIRIR PRI

a) 2025 b) 2030

Deforestatiort means

a) Cutting down of trees

c) Planting trees in grasslands
93,703 0TI ?

a) TTNYRY RO

C) BOLIWROTE) FOTAYRY, SEORYTO

33.

c) 2045 d) 2040

b) Planting trees in forests
d) All of the above

b) BTN, FoTRTR, SR
d) BoeOT QP
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34.

35.

36.

37.

38.

Kokkare Bellur is famous for

a) Painted storks b) Bats
c) Ostrich d) Swan
éﬁ%ﬁ" WIR T m@a’%” T2 dwmﬁ ?

a) woéé’@s AT (mé 671»0) b) oz
C) waﬁ T8 d) mom

Biological invasion means
a) lllegal killing of species
b) Conservation of species
) Accidental or deliberate introduction of a species into a new environment
) All of the above

zé;m’ Sifvela @cdﬁe:’p 9

a) WENY W0 ®
b) :»&nRg = odéJ
C) 20T gwosdo BTN ST YUTEBTRTF TN FETIT TR Biemnsd
d) R0eds 2
Terrace cultivation is practiced in
a) Slope area b) Ocean c) Forest d) Plain
Boeed N 1&5@ CINT TSRS, SREZT ?
a) APV ITTIS . b) -’a"mcj) c) DIE® d) wodben
In a terrestrial ecosystem, grass is a
a) Producers b) Decomposers c) Consumers d) None of the above
EREN0 TORT ag':@;);ojag , T 20T
a) YUZRTET b) Qewscd 1C) eveieen d) S0edT IRPER e,
# :
Which of the following is not a natural disaster ?
a) Volcanic eruption b) Nuclear explosion
c) Earthquake ’ d) Cyclone
FINTPYNLE)_CIRYT0 AN BReTR ?
a) ™, PBND & RRse + b) ITRRe0 Arew
c) z:{néoev d) BowE=nce
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39. Organisms which feed directly on producers are known as

a) Carnivores b) Omnivores

c) Herbivores d) None of the above
SeTeN YUBITTTRY, ST NSO

a) RO TONED b) Re=FeIEETd
C) RRR,THONED d) 203 omﬁdf\ e

40. Part of the earth in which life exists is known as
a) Hydrosphere b) Atmosphere ¢) Lithosphere d) Biosphere

eeNY [T LPROOD LMD, 0T FECHLNIT.
a) xRS b) P OIITOTEE c) dwonnes d) BemnReey
41. Biodiversity is
a) Variety of life on earth b) Living organisms in a lake
c) Microbial life on earth d) Variety of life in a forest
2363 FRNGE 0T
a) PRROCD 0edT FRFIOOD wBened  b) ABREETTOTI 2Bensd
C) RR00D RoedT BRT e d) PRTYTON FOGTO0I BeDNHO
42. Which of the following is a biotic component ?
a) Sunlight, b) Soil c) Water d) Fungi
" FINSRHNGE, CIRTT KT L0TNT ?
& a) ARcFR Y b) oy C) 26T d) 9Qeogyn

43. Which of the following statement is false ?
a) Respiration process releases energy
b) Energy is recycied in an ecosystem
c) Energy flow is unidirectional
d) Nutrients are recycled in an ecosystem

FINT BB IR0 3T ?

a) YVATHLT FT,0300300 T G, WEINE BRI

b) mo=c 53@";;033@0 3t odaﬁi BOTOWTE BRERMIST

C) JBOI TOFY) DFBNDTNTZT

d) mmwmm RORT =R 50309, DITOWTE RWRECINIST
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44. Country with highest population in the world is

) India b) China c) Japan d) Germany
3039 28 ézﬁo vt {olelale bty TV, CRT[YT ?
) &Tads b) WD C) W d) ==oFR
45. Conservation of species outside their natural habitat is called as

a) Species conservation b) In-situ conservation

c) Ex-situ conservation d) None of the above
BITNTR YN FINFT STROT TRTDN Nod'ésaodoa’n 0P 830303 ?
a) Jiemns Nodiﬁ b) = R~ w@@? Nodzjﬁ

c) d@d—m@aé ROTTES d) S0edT oRRTe WY,

46. Benefits of recycling of waste
a) Sustainable development
b) Can reduce pollution
c) Reduces pressure on raw materials

d) All of the above
3 B0BOWFZO0TINR B B3R ERIE
TORT ¢ aﬁ@

(53]

SROT So‘m Ik BRFBR

3%

X

gL

)

O
vvvv@r\

g %zsa dmori%ﬁ oees mgm TRRO INEZT
d fm@d ebeg;gp
47. Taj Mahal is getting damaged due to
a) Cyclones b) Sulphur dioxide
¢) Water pollution d) All of the above
2o BT ATWOCT TIIRRTDIOET |
a) WoESRTTD 'b) Reo* Fed =
C) O =RIF, ; d) S0eOF 2P
48. State with highest tribal population in India
a) Jharkhand b) Odisha c) Karnataka d) Madhya Pradesh
OIS 98 B, wﬁé@&gﬁjma’ﬁw@o&@‘mo@dgaﬁ oot
a) WDFOT® b) wam C) BooF s d) SoFzBeD
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49. Disaster Management Act came in the year

a) 2004 b) 2005 c) 2006 d) 2007
DB VT T T3 PDOTNT DRF
a) 2004 b) 2005 c) 2006 d) 2007
50. Population explosion will result in
a) Increase in forest cover b) Increase in rainfall
c¢) Food scarcity d) None of the above
WIROSTY RREEOT DTS ?
a) bdsq wdezﬁcﬁ G b) S =¥
c) @mﬁd 303 d) S0edT cIRTe W
51. World Water Day is celebrated on
a) 22nd March b) 22nd July c) 22" February d) 22" April
2, WO OTHowd B3 O SWEORTNIBT f
a) 22 InEF b) 22 x> c) 22 PO d) 22 Qe

52. Which of the following is a non-renewable source of energy ?

a) Coal b) Geothermal energy
c) Solar energy d) Both a) and b)
IINTYNGY, CIRTT S EBOTTONG JBT LT 0= 9
a) 39zeo b) waemacﬁ 38
¢) 73 é% d) a) e b) | 2ORR
53. The most abundant gas in the atmosphere is :
a) Nitrogen b) Helium c) Oxygen d) Hydrogen
TOTBOEITE) BeTFemoN CRTORE LA
a) ORI b) &edodo C) 5w d) wmewss
54. shows the number of organisms in each trophic level without any
consideration for their size.
a) Pyramid of Number b) Pyramid of Ecology
c) Pyramid of Biomass d) Pyramid of Energy
B B03R0T TP £Oed05 ey Roa3 oDy WG T, ORI BOMEDS
i’oecédoﬁa\ REDROZT.
a) R0, VTROT® ' b) ®o=T @m@dd QT
c) 22eTDBOR LT d) J3od &’
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55. Sundarbans is famous for

a) Leopard b) Lion Tailed Macaque
c) Royal Bengal Tiger d) Elephant
ROOTTWE ILNT CIRTTWE, BRAQOIRNT ?
a) Wo2 b) 2ones
C) TooHe® Worwd =0 d) =3
56. Energy and manure can be obtained from
a) Biogas plant b) Hydroelectric power plant
c) Nuclear power plant d) Wind mills
33 QTITQ0T T 302 ﬁmad:ﬁ#m DE03LTOT
a) T BV -md b) ®© HWE m:ﬁtﬁ
c) wdmm é)d)_@ ARTT d) ™ ﬁtﬁ?f*mﬁo
57. Good farming practices are
a) Using chemical pesticides b) Using organic manure
c¢) Using chemical fertilizers d) Monocropping

Mﬁ\ﬁwﬁ@ &"03733 5@1 T3S
a) T 0T %e,swé%e;sa WP b) WTDE RewPER, LI
C) ToRROIRT AYTHI) m%o@da d) 3 dedod 3

58. Mining means
a) Extraction of groundwater
b) Conservation of minerals and ores
c) Extraction of minerals and ores
d) Extraction of timber

NermoE o
a) ©oBRF O BLRTSMOIRT

b) DR 208 LOTINTS) RoTTR TRTITYTO
Cc) AWML dfw oS a ) mdaﬁom@da
d) 0Tde), ﬁmﬁéﬁc&mﬁ)m 4

59. Population expiosmn in deve!opmg countries leads to

a) Food scarcity b) Unemployment
c) Depletion of natural resources d) All of the above
wWSR0aY RRELNOT LR Hdew O‘@w NYS). L0ERN 2ROTITNL
a) csmrﬁd 2008 b) aTBR R

C) SRNEE FoTIRON Bevs? Cd) :33@@5 DOTP
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61.

62.

63.

64.

65.

535 i PO O
Environmental protection is the responsibility of

a) Government b) Public

¢) Industries d) All of the above

TOAT Nod’isaojw 2olovio) u:b‘\m@

a) AFT b) mTrxITD

C) grodnd d) S0eds 2P

Removal of carbon dioxide from the earth’s atmosphere and its long term
storage in terrestrial biosphere is known as
a) Carbon sequestration b) Carbon fixing

c) Photosynthesis d) Carbon dating

R0 TITSTEINOT YOTWOT BET BT BRTOTIBOR T BB LR
BWERNREFTO, BT DGFRFRHCD Non’ moma s 330320593 ?

a) WS Nes ~ DS° b) s Qo
C) B8R o@é’qmsa d) faw:z&‘ Beedon®
Factors such as temperature, rainfall, light, soil etc. are examples for
a) Biotic environment b) Abiotic environment
¢) In-situ environment d) Atmosphere
B3 203NPT TITRHT, 30¥, 1380, 063 ﬁmo@cﬁ'@ IRRTE, TDHO ?
a) ﬁ@g TORT b) e 23@.)5 w@f\)d
c) m@@ AT TORT d) momdaozse
Plants, Algae and Photosynthetic bacteria are examples of
a) Decomposers b) Carnivores c) Producers d) Herbivores
r\)r\) [0, 0 fs&fﬁ SREEINER0DST® o BeOOIPNO i} VT TOBNATONES.
a) s b) RRoPTOR: ©) WS d) AZTONED
World Ozone Day is celebrated on
a) August 15 b) December 15! ¢) March 15 d) September 16
28, LR &‘3‘3:5:53 33 OF 3ORPRITYT
a) d’h 15 b) &=cwo® 15 C) ™R 15 d) RFowo® 16
Minamata disease is caused due to
a) Lead b) Cadmium c) lron d) Mercury
Q0BT T2 CIRT)TOOT YVOEPNIZT ?
a) ex b) ,GoD=T c) 0 d) wos

SPACE FOR ROUGH WORK
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66. Koala bear is found in

a) America b) Australia c) Austria d) Africa
B 306 83 Be3TY [T
a) ©00% b) &7 edoDd C) ©3,03» d) =83
67. Large dams can cause
a) Cyclone b) Volcanic eruption
c) Earthquake d) Heavy rainfall
TRT LEFLINTOTIN LVOLRNIE TOTDT)
a) WormNTVS: b) 239,02 RRE
C) prvom d) e =g
68. Soil erosion can be controlled by
a) Mulching b) Afforestation
¢) Mixed cropping d) All the above
LIS RSP0, VOPOGRWBITRT RT
a) @oerFudon® b) «Tede50e0
C) Q03 ¥ d) S0edT 2P
69. Which of the following methods can reduce environmental degradation ?
a) Afforestation b) Reduce plastic
c) Wastewater treatment d) All of the above -
3FNT CINT AEINED TOIT TTTR) R BRBWEITD ?
a) ©Tcd e300 _ b) TRFERY TRR TRBRYT
C) TS AERTT d) 20D TP
!
70. Soil pollution is caused due to 7
a) Organic manure : b) Afforestation
c) Cattle grazing , d) Agricultural pesticides
B3RS TROTE) TO0T HVoLPNIZS
a) BRI rmzv;d . b) ©Ted 5o
C) T BOCONROTYT d) 3R 3eeimoTEND
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